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1. cgqyd gS %

(A) e/; ckjackjrk ewY;

(B) U;wure ckjackjrk ewY;

(C) vf/kdre ckjackjrk ewY;

(D) mijksDr esa ls dksbZ ugha

2. vius ek/; ls ,d ckjEckjrk caVu ds fopyuksa

dk chtx.krh; ;ksx lnSo gksrk gS %

(A) 'kwU; ls vf/kd

(B) 'kwU; ls de

(C) 'kwU;

(D) ,d uu&'kwU; la[;k

3. fuEufyf[kr esa ls dkSu xzkfQd :i ls

fu/kkZfjr ugha fd;k tk ldrk gS\

(A) ek/;

(B) ekf/;dk

(C) cgqyd

(D) mijksDr esa ls dksbZ ugha

4. vkadM+ksa dk cgqyd vkSj ek/; Øe'k% 12K

vkSj 15K gSA bldh ekf/;dk gksxh %

(A) 12K

(B) 14K

(C) 15K

(D) 16K

5. lap;h ckjackjrk oØ dks ;s Hkh dgrs gS %

(A) fgLVksxzke

(B) vkWfxo

(C) ckj xzkQ

(D) ekf/;dk

1. Mode is :

(A) Middle most frequent value

(B) Least frequent value

(C) Maximum frequent value

(D) None of the above

2. The algebraic sum of the deviations of a

frequency distribution from its mean is

always :

(A) Greater than zero

(B) Less than zero

(C) Zero

(D) A non-zero number

3. Which of the following can not be determined

graphically?

(A) Mean

(B) Median

(C) Mode

(D) None of the above

4. Mode and mean of a data are 12K and 15K.

Median of the data is :

(A) 12K

(B) 14K

(C) 15K

(D) 16K

5. Cumulative frequency curve is also called :

(A) Histogram

(B) Ogive

(C) Bar graph

(D) Median
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6. lkaf[;dh dh dkSu&lh 'kk[kk mu rduhdksa ls

lEcfU/kr gS ftudk mi;ksx MsVk dks O;ofLFkr

djus] lkjkaf'kr djus vkSj izLrqr djus ds

fy, fd;k tkrk gS\

(A) mUur lkaf[;dh

(B) o.kZukRed lkaf[;dh

(C) laHkkO;rk lkaf[;dh

(D) vuqekfud lkaf[;dh

7. ;fn fdlh Ük̀a[kyk esa dksbZ eku 'kwU; gS] rks

ge ----- dh x.kuk ugha dj ldrs gSA

(A) ek/;

(B) ekf/;dk

(C) cgqyd

(D) T;kfefrd ek/;

8. ek/; ls fopyu dk chth; ;ksx gS %

(A) vf/kdre

(B) 'kwU;

(C) U;wure

(D) vifjHkkf"kr

9. vkadM+k ¼lkaf[;dh½ ,d la[;kRed ek=k gS ftldh

x.kuk ------- ls dh tkrh gSA

(A) tula[;k

(B) uewuk

(C) vkadM+k

(D) voyksdu

10. buesa ls dkSu QSyko ds ekid ugha gS\

(A) izlkj

(B) 50th izfr'krkad

(C) vUrj&prqFkZd foLrkj

(D) fofHkUurk

6. Which branch of statistics deals with the
techniques that are used to organize,
summarize and present the data?

(A) Advanced statistics

(B) Descriptive statistics

(C) Probability statistics

(D) Inferential statistics

7. If any value in a series is zero, then we

cannot compute the :

(A) Mean

(B) Median

(C) Mode

(D) Geometric mean

8. The algebraic sum of deviations from mean

is  :

(A) Maximum

(B) Zero

(C) Minimum

(D) Undefined

9. Statistics is a numerical quantity, which is

calculated from :

(A) Population

(B) Sample

(C) Data

(D) Observations

10. Which one is not the measure of dispersion?

(A) The range

(B) 50th percentile

(C) Inter-quartile range

(D) Variance
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11. The degree of freedom for paired t-test

based on n pairs of observations is :

(A) 2n-1

(B) n-2

(C) 2 (n-1)

(D) n-1

12. Which test is the part of the parametric

test?

(A) Sign test

(B) Run test for randomness

(C) Kruskal-Wallis test

(D) Z-test

13. Identifying causes of a problem and

possible solution to a problem is :

(A) Field study

(B) Diagnostic study

(C) Action study

(D) Pilot study

14. Second step in problem formulation is :

(A) Statement of the problem

(B) Understanding the nature of the

problem

(C) Survey

(D) Discussion

15. Questionnaire is filled by :

(A) Respondent

(B) Every body

(C) Enumerator

(D) None of the above

11. n izs{k.kksa ds ;qXeksa ds vk/kkj ij ;qfXer t-test

ds fy, fMxzh vkWQ ÝhMe gS %

(A) 2n-1

(B) n-2

(C) 2(n-1)

(D) n-1

12. dkSu&lk ijh{k.k iSjkehfVªd ijh{k.k dk Hkkx
gS\

(A) lkbu ijh{k.k

(B) ;knf̀PNdrk ds fy, ju ijh{k.k

(C) ØLdy&oSfyl ijh{k.k

(D) Z-ijh{k.k

13. fdlh leL;k ds dkj.kksa dh igpku djuk
vkSj fdlh leL;k dk laHkkfor lek/kku gS %

(A) {ks= v/;;u

(B) uSnkfud v/;;u

(C) fØ;kRed v/;;u

(D) ik;yV v/;;u

14. leL;k fu/kkZj.k esa nwljk pj.k gS %

(A) leL;k dFku

(B) leL;k dh izÑfr dks le>uk

(C) losZ{k.k

(D) ppkZ

15. iz'ukoyh ------ }kjk Hkjh tkrh gSA

(A) izfroknh

(B) izR;sd O;fDr

(C) x.kukdkj

(D) mi;qZDr esa ls dksbZ ugha
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16. ,d xsanckt }kjk 10  fØdsV eSpksa esa fy, x;s

fodsV 2, 6, 4, 5, 0, 3, 1, 3, 2, 3 gSA vkadM+ksa

dk cgqyd D;k gksxk\

(A) 1

(B) 2

(C) 3

(D) 4

17. cgqyd vkSj ek/; Øe'k% 7 vkSj 8 fn;k x;k

gS] rks bldh ekf/;dk gksxh %

(A) 1/13

(B) 13/3

(C) 23/3

(D) 33

18. lkaf[;dh fo"k; esa 9 Nk=ksa ds izkIr vad 59,

46, 30, 23, 27, 44, 52, 40 vkSj 29 gSA bldh

ekf/;dk gksxh %

(A) 30

(B) 35

(C) 29

(D) 40

19. os pj dkSu gS ftudh x.kuk otu] Å¡pkbZ

vkSj yEckbZ ds vuqlkj dh tkrh gSA mls

tkuk tkrk gS %

(A) ¶ykspkVZ pj ds :i esa

(B) vlrr~ pj ds :i esa

(C) lrr~ pj ds :i esa

(D) ekid pj ds :i esa

16. The wickets taken by a bowler in 10 cricket

matches are 2, 6, 4, 5, 0, 3, 1, 3, 2, 3. The

mode of the data is :

(A) 1

(B) 2

(C) 3

(D) 4

17. The mode and mean is given by 7 and 8,

respectively, then the median is :

(A) 1/13

(B) 13/3

(C) 23/3

(D) 33

18. The marks obtained by 9 students in statistics

are 59, 46, 30, 23, 27, 44, 52, 40 and 29.

The median of the data is :

(A) 30

(B) 35

(C) 29

(D) 40

19. What are the variables whose calculation is
done according to the weight, height and

length known as?

(A) Flowchart variables

(B) Discrete variables

(C) Continuous variables

(D) Measuring variables
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20. The main problem in questionnaire is :

(A) Accessible to diverse respondent

(B) Greater anonymity

(C) Shows an inability of respondent to

provide information

(D) None of the above

21. An image perception or concept that is

capable of measurement is called :

(A) Scale

(B) Hypothesis

(C) Type

(D) Variable

22. How to judge the depth of any research?

(A) By research title

(B) By research duration

(C) By research objective

(D) By total expenditure on research

23. What do you mean by unit of analysis?

(A) Main Parameter

(B) Variables

(C) Sample

(D) Constructs

24. One of the method for determining mode

is :

(A) Mode = 2 median – 3 mean

(B) Mode = 3 median – 2 mean

(C) Mode = 2 mean – 3 median

(D) Mode = 3 mean – 2 median

20. iz'ukoyh esa eq[; leL;k gS %

(A) izfroknh ds ;ksX; gksus ds fy, lqyHk

(B) vf/kd xqeukeh

(C) lwpuk iznku djus ds fy, izfroknh

dh v{kerk dks n'kkZrk gS

(D) mijksDr esa ls dksbZ ugha

21. ,d Nfo /kkj.kk ;k vo/kkj.kk tks eki djus
esa l{ke gS] dgykrh gS %

(A) iSekuk

(B) ifjdYiuk

(C) Vkbi

(D) pj

22. fdlh 'kks/k dh xgjkbZ dks dSls vkads\

(A) 'kks/k 'kh"kZd ls

(B) 'kks/k vof/k ls

(C) 'kks/k mn~ns'; ls

(D) 'kks/k ij dqy O;; ls

23. fo'ys"k.k dh bdkbZ ls vki D;k le>rs gS\

(A) eq[; iSjkehVj

(B) pj

(C) uewuk

(D) fuekZ.k

24. cgqyd Kkr djus dh ,d fof/k gS %

(A) cgqyd ¾ 2 ekf/;dk & 3 ek/;

(B) cgqyd ¾ 3 ekf/;dk & 2 ek/;

(C) cgqyd ¾ 2 ek/; & 3 ekf/;dk

(D) cgqyd ¾ 3 ek/; & 2 ekf/;dk

[P.T.O.]
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25. Which of the following is not one of the seven

major parts to the research report?

(A) Results

(B) Abstract

(C) Method

(D) Footnotes

26. What type of chart is useful for comparing

values over categories?

(A) Pie chart

(B) Column chart

(C) Line chart

(D) Dot graph

27. A feature that displays only the data in

column(s) according to specified criteria?

(A) Formula

(B) Sorting

(C) Filtering

(D) Pivot

28. What type of chart is useful for showing

trends or changes over time?

(A) Pie Chart

(B) Column Chart

(C) Line Chart

(D) Dot Graph

29. What technique is generally followed when

the population is finite?

(A) Systematic sampling technique

(B) Purposive sampling technique

(C) Area sampling technique

(D) None of the above

25. fuEufyf[kr esa ls dkSu 'kks/k fjikVZ ds lkr

izeq[k Hkkxksa esa ls ,d ugha gS\

(A) ifj.kke

(B) la{ksfidk

(C) fof/k

(D) QqVuksV ¼ikn ys[k½

26. Jsf.k;ksa ij ewY;ksa dh rqyuk djus ds fy,

fdl izdkj dk pkVZ mi;ksxh gS\

(A) ikbZ pkVZ

(B) LraHk pkVZ

(C) ykbu ¼js[kk½ pkVZ

(D) MkWV xzkQ

27. ,d fo'ks"krk tks fufnZ"V ekunaMkas ds vuqlkj

dkWye esa dsoy vkadM+k iznf'kZr djrh gS %

(A) lw=

(B) Js.khdj.k

(C) fuLianu

(D) dhyd ¼fioV½

28. :>ku fn[kkus ds fy, fdl izdkj dk pkVZ

mi;ksxh gS ;k le; ds lkFk ifjorZuh; gS\

(A) ikbZ pkVZ

(B) LraHk pkVZ

(C) js[kk pkVZ

(D) MkWV xzkQ

29. tc tula[;k lhfer gksrh gS] rks vkerkSj ij

fdl rduhd dk ikyu fd;k tkrk gS\

(A) O;ofLFkr uewukdj.k rduhd

(B) mn~ns';iw.kZ uewukdj.k rduhd

(C) {ks= uewukdj.k rduhd

(D) mi;qZDr esa ls dksbZ ugha
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30. tc dksbZ 'kwU; ifjdYiuk xyr gksrs gq, Hkh

vLohÑr ugha dh tkrh gS] rks og D;k gksxh\

(A) vYQk

(B) Vkbi&I =qfV

(C) chVk

(D) Vkbi&II =qfV

31. ,d izkpy gS %

(A) uewuk dh fo'ks"krk,¡

(B) tula[;k dh fo'ks"krk,¡

(C) vKkr

(D) lkekU; :i ls forfjr

32. og vkadM+k tks igys ls gh fdlh ds }kjk

,d= fd;k tk pqdk gS] dgykrk gS %

(A) dPpk vkadM+k

(B) vjs vkadM+k

(C) f}rh;d vkadM+k

(D) dkYifud vkadM+k

33. lewg vkadM+ksa dks ------ Hkh dgk tkrk gSA

(A) dPpk vkadM+k

(B) izkFkfed vkadM+k

(C) f}rh;d vkadM+k

(D) xq.kkRed vkadM+k

34. 2022 ds nkSjku ,d 'kgj esa nq?kZVukvksa dh

la[;k gS %

(A) vlrr~ pj

(B) lrr~ pj

(C) xq.kkRed pj

(D) fLFkj

30. Failing to reject the null hypothesis when it

is false is :

(A) Alpha

(B) Type– I Error

(C) Beta

(D) Type–II Error

31. A parameter is :

(A) A sample characteristics

(B) A population characteristics

(C) Unknown

(D) Normally distributed

32. The data which have already been collected

by someone are called :

(A) Raw data

(B) Array data

(C) Secondary data

(D) Fictitious data

33. The grouped data is also called :

(A) Raw data

(B) Primary data

(C) Secondary data

(D) Qualitative data

34. The number of accidents in a city during 2022

is :

(A) Discrete variables

(B) Continuous variables

(C) Qualitative variables

(D) Constant
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35. Which one is called non-probabil ity

sampling?

(A) Quota sampling

(B) Cluster sampling

(C) Systematic sampling

(D) Stratified random sampling

36. The _____ scale measurement has a natural

zero.

(A) Ratio

(B) Nominal

(C) Ordinal

(D) Interval

37. Cluster sampling, stratified sampling and

systematic sampling are types of :

(A) Direct  sampling

(B) Indirect sampling

(C) Random sampling

(D) Non-random sampling

38. The split-half method is used as a test of :

(A) Stability

(B) Internal reliability

(C) Inter-observer consistency

(D) External validity

39. Scale in which the respondent directly

compares two or more objects and makes

choices among them is :

(A) Ranking scale

(B) Rating scale

(C) Graphic scale

(D) None of the above

35. fdls xSj&laHkkO;rk uewukdj.k dgk tkrk

gS\

(A) dksVk uewukdj.k

(B) DyLVj uewukdj.k

(C) O;ofLFkr uewukdj.k

(D) Lrjh; ;knf̀PNd uewukdj.k

36. ----- iSekus ds ekiu dk izkÑr 'kwU; gksrk

gSA

(A) jsf'k;ks ¼vuqikr½

(B) ukfeuy ¼lkadsfrd½

(C) vkWfMZuy ¼Øeokpd½

(D) vUrjky

37. DyLVj] ¼LrjhÑr½ uewukdj.k vkSj O;ofLFkr

uewukdj.k izdkj gSa %

(A) izR;{k uewukdj.k ds

(B) vizR;{k uewukdj.k ds

(C) ;knf̀PNd uewukdj.k ds

(D) v;knf̀PNd uewukdj.k ds

38. fLIyV gkWQ fof/k dk mi;ksx ------ ijh{k.k

ds :i esa fd;k tkrk gSA

(A) fLFkjrk

(B) vkUrfjd fo'oluh;rk

(C) vUrj&i;Zos{kd fLFkjrk

(D) ckg~; oS/krk

39. og iSekuk ftlesa izfroknh lh/ks nks ;k nks ls
vf/kd oLrqvksa dh rqyuk djrk gS vkSj muesa
ls pquko djrk gS %

(A) jSafdax Ldsy

(B) jsfVax Ldsy

(C) xzkfQd Ldsy

(D) mijksDr esa ls dksbZ ugha
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40. tula[;k dh fof'k"V fo'ks"krkvksa dks dgk

tkrk gS %

(A) lkaf[;dh

(B) pj

(C) izkpy

(D) uewuk

41. vkadM+ksa ds izkFkfed vkSj vlaxfBr :i dks

dgk tkrk gS %

(A) f}rh;d vkadM+k

(B) laxfBr vkadM+k

(C) izkFkfed vkadM+k

(D) mijksDr esa ls dksbZ ugha

42. ,d caVu dk ek/; 23 gS] ekf/;dk 24 gS vkSj

cgqyd 25.5 gSA bldh lcls vf/kd laHkkouk

gS fd ;g caVu gS %

(A) /kukRed frjNk

(B) lefer

(C) ,flEiVksfVd

(D) _.kkRed frjNk

43. fuEufyf[kr esa ls dkSu&lk eki izs{k.kksa ds

lewg dks leku Hkkxksa esa foHkkftr ugha djrk

gS\

(A) prqFkkaZd

(B) ekud fopyu

(C) 'kred

(D) ekf/;dk

40. A specific characteristic of a population is

called :

(A) Statistic

(B) Variable

(C) Parameter

(D) Sample

41. The first hand and unorganized form of data

is called :

(A) Secondary data

(B) Organized data

(C) Primary data

(D) None of the above

42. A mean of a distribution is 23, the median is

24, and the mode is 25.5. It is most likely

that this distribution is :

(A) Positively skewed

(B) Symmetrical

(C) Asymptotic

(D) Negatively skewed

43. Which one of the following measurement

does not divide a set of observations into

equal parts?

(A) Quartiles

(B) Standard Deviation

(C) Percentiles

(D) Median

[P.T.O.]
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44. The height of a student is 60 inches. This is

an example of :

(A) Qualitative data

(B) Categorical data

(C) Continuous data

(D) Discrete data

45. The data which have not undergone any

statistical treatments are :

(A) Primary data

(B) Secondary data

(C) Discrete data

(D) Continuous data

46. Data in the population census report is :

(A) Grouped data

(B) Ungrouped data

(C) Secondary data

(D) Primary data

47. The mean is affected by the change of :

(A) Origin

(B) Scale

(C) Both origin and scale

(D) Unis

48. A measures of dispersion is always :

(A) Zero

(B) Positive

(C) Negative

(D) Infinity

44. ,d Nk= dh Å¡pkbZ 60 bUp gSaA ;g ,d

mnkgj.k gS %

(A) xq.kkRed vkadM+s dk

(B) Js.khc) vkadM+s dk

(C) lrr~ vkadM+s dk

(D) vlrr~ vkadM+s dk

45. os vkadM+s ftudk dksbZ fLFkj mipkj ugha gqvk

gS %

(A) izkFkfed vkadM+k

(B) f}rh;d vkadM+k

(C) vlrr~ vkadM+k

(D) fujarj ¼lrr~½ vkadM+k

46. tula[;k fjiksVZ ds vkadM+s gS %

(A) lewg vkadM+k

(B) vlewghÑr vkadM+k

(C) f}rh;d vkadM+k

(D) izkFkfed vkadM+k

47. ek/; ------ ds ifjorZu ls izHkkfor gksrk gSA

(A) ewy

(B) iSekuk

(C) nksuksa ewy vkSj iSeku

(D) ;wful

48. QSyko dk ekid ges'kk gksrk gS %

(A) 'kwU;

(B) /kukRed

(C) _.kkRed

(D) vuUr
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49. The scientific study of the historical

background of the events to determine its

bearing on the present condition is called :

(A) Philosophical research

(B) Action research

(C) Experimental research

(D) Historical research

50. The data of research is, generally :

(A) Qualitative only

(B) Quantitative only

(C) Both (A) and (B)

(D) None of the above

51. Longitudinal approach of research deals

with :

(A) Short-term researches

(B) Long-term researches

(C) Horizontal researches

(D) None of the above

52. Which of these is not a step in the problem

identification process?

(A) Discussion with subject experts

(B) Review of existing literature

(C) Theoretical foundation and model

building

(D) Management decision making

53. Mean, median and mode are :

(A) Measures of deviation

(B) Ways of sampling

(C) Measures of central tendency

(D) None of the above

49. orZeku ifjfLFkfr;ksa ij mlds izHkko dks

fu/kkZfjr djus ds fy, ?kVukvksa dh ,sfrgkfld

i`"BHkwfe dk oSKkfud v/;;u dgykrk gS %

(A) nk'kZfud 'kks/k

(B) fØ;kRed 'kks/k

(C) iz;ksxkRed 'kks/k

(D) ,sfrgkfld 'kks/k

50. vuqla/kku ds vkadM+s vkerkSj ij gS %

(A) dsoy xq.kkRed

(B) dsoy ek=kRed

(C) nksuksa (A) vkSj (B)

(D) mijksDr esa ls dksbZ ugha

51. 'kks/k dk vuqnS/;Z n`f"Vdks.k fdlds lkFk

lacfU/kr gS\

(A) vYidkfyd 'kks/k

(B) nh?kZdkfyd 'kks/k

(C) {kSfrt 'kks/k

(D) mi;qZDr esa ls dksbZ ugha

52. buesa ls dkSu&lk leL;k igpku izfØ;k esa

,d dne ugha gSa\

(A) fo"k; fo'ks"kK ds lkFk ppkZ

(B) miyC/k lkfgR; dh leh{kk

(C) lS)kfUrd uhao vkSj ekWMy fuekZ.k

(D) izcU/ku fu.kZ; ysuk

53. ek/;] ekf/;dk vkSj cgqyd gS %

(A) fopyu ds ekid

(B) uewus ds rjhds

(C) dsUnzh; izo`fÙk ds ekid

(D) mi;qZDr esa ls dksbZ ugha

[P.T.O.]
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54. _____is a process of information.

(A) Books

(B) CD-ROM

(C) Computers

(D) None of the above

55. Information is :

(A) Raw  data

(B) Processed data

(C) Input data

(D) Organized data

56. Conference proceedings are considered as

_____ documents.

(A) conventional

(B) primary

(C) secondary

(D) tertiary

57. An appropriate source to find out descriptive

information is :

(A) Bibliography

(B) Directory

(C) Encyclopedia

(D) Dictionary

58. The Farmington Plan is associated with :

(A) Library legislation

(B) Library cataloguing

(C) Library cooperation

(D) Library indexing service

54. ------- lwpuk dh ,d izfØ;k gSA

(A) iqLrdsa

(B) CD-ROM

(C) dEI;wVj

(D) mi;qZDr esa ls dksbZ ugha

55. tkudkjh gS %

(A) dPpk vkadM+k

(B) izlaLÑfr vkadM+k

(C) buiqV vakdM+k

(D) laxfBr vkadM+k

56. lEesyu ds dk;Zokgh dks ------ nLrkost

¼lk{;½ ds :i esa ekuk tkrk gSA

(A) ikjaifjd

(B) izkFkfed

(C) f}rh;d

(D) r`rh;d

57. o.kZukRed tkudkjh dk irk yxkus ds fy,

,d mi;qDr lzksr gS %

(A) xzaFk lwph

(B) funsZf'kdk

(C) fo'odks'k@Kkudks'k

(D) 'kCndks'k

58. QfeZaxVu ;kstuk fdlls lacfU/kr gS\

(A) iqLrdky; dkuwu

(B) iqLrdky; lwphdj.k

(C) iqLrdky; lg;ksx

(D) iqLrdky; vuqØe.k lsok
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59. Evaluation research is concerned with :

(A) What are we doing?

(B) Why we are doing?

(C) How well are we doing?

(D) None of the above

60. Action research is a type of :

(A) Applied research

(B) Quality research

(C) Working research

(D) Survey research

61. A hypothesis is a :

(A) Tentative statement whose validity

is still to be tested

(B) Supposition which is based on the

past experience

(C) Statement of fact

(D) All of the above

62. What do you mean by synopsis of a

research project?

(A) The blue print of research

(B) Extracts from the research

observations

(C) A plan of the research

(D) Summary of the findings of the

research

63. Can a problem be stated?

(A) By putting forward a question

(B) Making a statement which is

declarative in nature

(C) Both (A) and (B)

(D) None of the above

59. ewY;kadu vuqla/kku dk lacU/k gS %

(A) ge D;k dj jgsa gSa\

(B) ge D;kas dj jgsa gSa\

(C) ge fdruk vPNk dj jgsa gSa\

(D) mi;qZDr esa ls dksbZ ugha

60. fØ;kRed 'kks/k ,d izdkj gS %

(A) izk;ksfxd 'kks/k dk

(B) xq.kkRed 'kks/k dk

(C) dk;kZRed 'kks/k dk

(D) losZ 'kks/k dk

61. ,d ifjdYiuk gS %

(A) vLFkk;h dFku ftldh oS/krk dk

ijh{k.k fd;k tkuk ckdh gSA

(B) og fLFkfr tks fiNys vuqHko ij

vk/kkfjr gS

(C) rF;kRed dFku

(D) mi;qZDr lHkh

62. fdlh 'kks/k ifj;kstuk ds lkjka'k ls vki D;k

le>rs gS\

(A) vuqla/kku dk [kkdk

(B) 'kks/k fVIif.k;ksa ls fu"d"kZ

(C) vuqla/kku dh ,d ;kstuk

(D) 'kks/k ds fu"d"kksZa dk lkjka'k

63. D;k dksbZ leL;k fy[kh tk ldrh gS\

(A) ,d iz'u ds :i esa

(B) ,d ?kks"k.kkRed dFku ds :i esa

(C) nksuksa (A) vkSj (B)

(D) mi;qZDr esa ls dksbZ ugha
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64. What is / are the base(s) of formulation of a

hypothesis?

(A) Reflection

(B) Deduction

(C) Observation

(D) All of the above

65. Which of the following is not the characteristic

of research?

(A) Based research

(B) Holistic perspective

(C) Context sensitivity

(D) Ex-post facto research

66. Which of the following is a step of research

design?

(A) Defining the problem and

formulating a hypothesis

(B) Collecting data

(C) Drawing inferences from the data

(D) All of the above

67. Which of the following is a type of

hypothesis?

(A) Interrogative hypothesis

(B) Declarative hypothesis

(C) Directional hypothesis

(D) All of the above

68. A research is based on :

(A) Ideas of the scientists

(B) Experiments

(C) Scientific method

(D) Same general principles

64. ,d ifjdYiuk ds fuekZ.k dk vk/kkj D;k gS@

gSa\

(A) izfrfcac ;k fopkj

(B) fuxeu ;k ifj.kke

(C) voyksdu

(D) mi;qZDr lHkh

65. fuEu esa ls dkSu&lh vuqla/kku dh fo'ks"krk

ugha gS\

(A) vk/kkjHkwr vuqla/kku

(B) lexz n`f"Vdks.k

(C) lanHkZ laosnu'khyrk

(D) iwoZ&iksLV QSDVks vuqla/kku

66. fuEufyf[kr esa ls dkSu&lk vuqla/kku jpuk

dk ,d pj.k gS\

(A) leL;k dks ifjHkkf"kr djuk vkSj

,d ifjdYiuk rS;kj djuk

(B) vkadM+k ,df=r djuk

(C) vkadM+ksa ls fu"d"kZ fudkyuk

(D) mi;qZDr lHkh

67. fuEufyf[kr esa ls dkSu ,d izdkj dh ifjdYiuk

gS\

(A) iz'uokpd ifjdYiuk

(B) ?kks"k.kkRed ifjdYiuk

(C) fn'kkRed ifjdYiuk

(D) mi;qZDr lHkh

68. ,d 'kks/k vk/kkfjr gksrk gS %

(A) oSKkfudksa ds fopkj ij

(B) iz;ksxksa ij

(C) oSKkfud fof/k ij

(D) ,d gh lkekU; fl)kUr ij
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69. A successful research requirements :

(A) Planning

(B) Guidance

(C) Expert

(D) All of the above

70. Which is the design of sampling?

(A) Probability selection

(B) Purposive methods

(C) Mixed sample

(D) All of the above

71. Survey research methods come under :

(A) Pre-empirical methods

(B) Descriptive research methods

(C) Experimental research methods

(D) All of the above

72. The logic of induction is very much related

with :

(A) The logic of sampling

(B) The logic of controlled variable

(C) The logic of observation

(D) None of the above

73. The aim of  research is :

(A) Descriptive in nature

(B) Founded in human values

(C) Cause-effect relatedness

(D) All of the above

74. The aims of research is / are :

(A) Verification

(B) Fact finding

(C) Theoretical development

(D) All of the above

69. ,d lQy 'kks/k gsrq vko';drk gksrh gS %

(A) ;kstuk dh
(B) funsZ'ku dh
(C) fo'ks"kK dh
(D) mijksDr lHkh

70. uewukdj.k ¼izfrn'kZu½ dh fMtkbu ¼jpuk½
gS %
(A) laHkkO;rk p;u
(B) mn~ns';iw.kZ fof/k
(C) fefJr uewuk
(D) mi;qZDr lHkh

71. losZ 'kks/k fof/k------ds vUrxZr vkrh gSA
(A) iwoZ&vuqHkotU; fof/k
(B) o.kZukRed vuqla/kku fof/k
(C) iz;ksxkRed vuqla/kku fof/k
(D) mi;qZDr lHkh

72. vuqxe dk rdZ dkQh gn rd lEcfU/kr
gS %
(A) izfrn'kZu dk rdZ
(B) fu;fU=r pj dk rdZ
(C) i;Zos{k.k dk rdZ
(D) mi;qZDr esa ls dksbZ ugha

73. 'kks/k dk mn~ns'; gS %
(A) o.kZukRed izÑfr dk
(B) ekuo ewY; izkIr djus esa
(C) dkj.k&izHkko ds lEcU/k LFkkfir djus

esa
(D) mi;qZDr lHkh

74. 'kks/k dk mn~ns'; gS@gSa %
(A) tkapus esa
(B) rF; izkIr djus esa

(C) lS)kfUrd fodkl esa

(D) mi;qZDr lHkh
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75. A null hypothesis is :

(A) Hypothesis of no difference

(B) Hypothesis that assigns value of

zero to the variable

(C) Hypothesis of zero significance

(D) None of the above

76. The preparation of a synopsis is :

(A) An art

(B) A science

(C) Both (A) and (B)

(D) All of the above

77. The advantage of sampling is :

(A) Time-saving

(B) Capital-saving

(C) Increased accuracy

(D) Both (A) and (B)

78. The method of Randomization involves :

(A) Lottery

(B) Coin method

(C) Tippit’s  table of random digits

(D) All of the above

79. Type-1 Error occurs, when :

(A) The null hypothesis is rejected even

when it is true

(B) The null hypothesis is accepted

even when it is false

(C) Both (A) and (B)

(D) None of the above

75. 'kwU; ifjdYiuk gS %

(A) fcuk varj dh ifjdYiuk

(B) ifjdYiuk tks pj dks 'kwU; dk eku

iznku djrh gS

(C) 'kwU; egRo dh ifjdYiuk

(D) mi;qZDr esa ls dksbZ ugha

76. ,d flukWfIll dh rS;kjh gS %

(A) ,d dyk

(B) ,d foKku

(C) nksuksa (A) vkSj (B)

(D) mi;qZDr lHkh

77. izfrn'kZu dk ykHk gS %

(A) le; cpr

(B) iw¡th cpr

(C) lVhdrk of̀)

(D) nksuksa (A) vkSj (B)

78. ;knf̀PNdj.k dh fof/k esa 'kkfey gS %

(A) ykVjh

(B) flDdk fof/k

(C) ;knf̀PNd vadksa dh fVfiV rkfydk

(D) mi;qZDr lHkh

79. Vkbi&1 =qfV rc gksrh gS] tc %

(A) 'kwU; ifjdYiuk lR; gksus ij Hkh

vLohÑr dj nsrs gSa

(B) 'kwU; ifjdYiuk vlR; gksrs gq, Hkh

Lohdkj dj ysrs gSa

(C) nksuksa (A) vkSj (B)

(D) mi;qZDr esa ls dksbZ ugha
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80. Research is :

(A) Searching again and again

(B) Finding solution to any problem

(C) Working in a scientific way to search

for truth of way problem

(D) None of the above

81. A common test in research demand much

priority on :

(A) Reliability

(B) Usability

(C) Objectivity

(D) All of the above

82. Classification of all types of libraries has

been made by :

(A) IFLA

(B) UNISIST

(C) UNESCO

(D) INSDOC

83. Reading centre’s story hours, exhibitions

and reading to literature are forms of :

(A) Extension service

(B) Service of a public library

(C) Both (A) and (B)

(D) None of the above

84. Informal self-education is possible in what

kind of library?

(A) National library

(B) Public library

(C) Specific library

(D) College library

80. 'kks/k gS %

(A) ckj&ckj [kkstuk

(B) fdlh Hkh leL;k dk lek/kku [kkstuk

(C) leL;k lPpkbZ dk oSKkfud rjhds ls

irk yxkuk

(D) mi;qZDr esa ls dksbZ ugha

81. 'kks/k esa ,d lkekU; ijh{k.k ij vf/kd

izkFkfedrk dh vko';drk gksrh gS %

(A) fo'oluh;rk

(B) izk;ksT;

(C) oLrqfu"Brk

(D) mi;qZDr lHkh

82. lHkh izdkj ds iqLrdky;ks a dk oxhZdj.k

fdlds }kjk fd;k x;k gS\

(A) IFLA

(B) UNISIST

(C) UNESCO

(D) INSDOC

83. iBu dsUnz dgkuh ds ?kaVs] izn'kZuh vkSj lkfgR;

dks i<+uk fdlds :i gS\

(A) lsok foLrkj

(B) ,d lkoZtfud iqLrdky; dh lsok

(C) nksuksa (A) vkSj (B)

(D) mijksDr essa ls dksbZ ugha

84. fdl izdkj ds iqLrdky; esa vukSipkfjd

Lo&f'k{kk laHko gS\

(A) jk"Vªh; iqLrdky; esa

(B) lkoZtfud iqLrdky; esa

(C) fof'k"V iqLrdky; esa

(D) egkfo|ky; ds iqLrdky; esa
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85. UNESCO assisted model public library in

India is located at :

(A) Kolkata

(B) Delhi

(C) Mumbai

(D) Chennai

86. Questionnaire is a :

(A) Research method

(B) Measurement technique

(C) Tools for data collection

(D) Data analysis technique

87. “Controlled Group” is a term used in :

(A) Survey research

(B) Historical research

(C) Experimental research

(D) Descriptive research

88. Which of the following is not a Graphic

representation?

(A) Pie chart

(B) Bar chart

(C) Table

(D) Histogram

89. SPSS is an acronym of the following :

(A) Statistical Predications for Social

Sciences

(B) Sexual Preferences for the Sixties

and Seventies

(C) Statistical Package for the Social

Sciences

(D) Sexual Performance and SAD

Syndrome

85. Hkkjr esa ;wusLdks lgk;rk izkIr ekWMy lkoZtfud

iqLrdky; dgk¡ fLFkr gS\

(A) dksydkrk

(B) fnYyh

(C) eqacbZ

(D) psUubZ

86. iz'ukoyh ,d gS %

(A) 'kks/k fof/k

(B) ekid rduhd

(C) vkadM+s ,df=r djus dk ;U=

(D) vkadM+k fo'ys"k.k rduhd

87. ßfu;U=.k lewgÞ 'kCn dk iz;ksx fd;k tkrk

gS %

(A) losZ{k.k vuqla/kku esa

(B) ,sfrgkfld vuqla/kku esa

(C) iz;ksxkRed vuqla/kku esa

(D) o.kZukRed vuqla/kku esa

88. fuEufyf[kr esa ls dkSu xzkfQd izfrfuf/kRo

ugha gS\

(A) ikbZ pkVZ

(B) ckj pkVZ

(C) rkfydk

(D) fgLVksxzke

89. SPSS fuEufyf[kr dk laf{kIr :i gS %

(A) LVSfVfLVdy fizMDlu QkWj lks'ky

lkbUl

(B) lsDlqvy fizQjsUl QkWj n flDVht

,.M lsosaVht

(C) LVSfVfLVdy iSdst QkWj n lks'ky

lkbUl

(D) lsDlqvy ijQkWjesUl ,.M SAD

flUMªkse
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90. The reporting of research findings should

be done :

(A) by the scientist themselves

(B) in a scientific and effective way

(C) through internet

(D) through scientific journals

91. Reliability of a research result implies

its :

(A) Verifiability

(B) Validity

(C) Uniqueness

(D) Usefulness

92. A research is  :

(A) A serious and investigative study

(B) Being illuminated

(C) Based on standardised conclusions

(D) All of the above

93. The word “Research” means :

(A) To know

(B) To get

(C) To  move

(D) To innovate

94. Which of the following is / are types of field

studies?

(A) Exploratory testing

(B) Hypothesis testing

(C) Both (A) and (B)

(D) None of the above

95. Survey research studies :

(A) Events

(B) Populations

(C) Processes

(D) Circumstances

90. 'kk s/k fu"d"kks Z a dh fjiksfVZ ax dh tkuh
pkfg, %
(A) Lo;a oSKkfud }kjk
(B) oSKkfud vkSj izHkkoh rjhds ls
(C) baVjusV ds ek/;e ls
(D) oSKkfud tujy ds }kjk

91. ,d 'kks/k ifj.kke dh fo'oluh;rk dk rkRi;Z
gS %
(A) lR;lk/kuh;rk
(B) oS/krk
(C) fof'k"Vrk
(D) lkFkZdrk

92. ,d 'kks/k gS %
(A) ,d xaHkhj vkSj [kksth v/;;u
(B) izdkf'kr ¼izcq)½
(C) ekudhÑr fu"d"kZ ds vk/kkj ij
(D) mi;qZDr lHkh

93. 'kks/k 'kCn dk vFkZ gS %
(A) Kku izkIr djuk
(B) dqN izkIr djuk
(C) vkxs c<+us esa
(D) ubZ [kkst djuk

94. fuEu esa ls dkSu&lk {ks= v/;;u dk izdkj
gS@gSa\
(A) [kkstiw.kZ ijh{k.k
(B) ifjdYiuk ijh{k.k
(C) nksuksa (A) vkSj (B)

(D) mijksDr esa ls dksbZ ugha
95. losZ 'kks/k v/;;u djrk gS %

(A) ?kVuk dk
(B) tula[;k dk
(C) izfØ;k dk

(D) ifjfLFkfr;ksa dk

[P.T.O.]
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96. Final stage in the research process is :

(A) Problem Formulation

(B) Data Collection

(C) Data Analysis

(D) Report Writing

97. A comprehensive full report of the research

process is called :

(A) Thesis

(B) Summary Report

(C) Abstract

(D) Article

98. The first page of research report is :

(A) Appendix

(B) Bibliography

(C) Index

(D) Title Page

99. The Chi-square test is :

(A) A mean

(B) A multi-questions tests

(C) A statistical mistake

(D) A statistic

100. ANOVA is :

(A) A government body which collect

social statistics

(B) The name of a statistical software

package

(C) A one-way analysis of variance

(D) A two-way analysis of variance

96. 'kks/k izfØ;k esa vafre pj.k gS %

(A) leL;k fu:i.k

(B) vkadM+k laxzg.k

(C) vkadM+k fo'ys"k.k

(D) fjiksVZ ys[ku

97. vuqla/kku izfØ;k dh O;kid iw.kZ fjiksVZ dgykrh

gS %

(A) Fkhfll

(B) laf{kIr fjiksVZ

(C) la{ksi

(D) vuqPNsn

98. 'kks/k fjiksVZ dk igyk i`"B gS %

(A) viasfMDl ¼ifjf'k"V½

(B) xzaFk lwph

(C) vuqØef.kdk

(D) eq[k i`"B

99. dkbZ&LDok;j ijh{k.k gS %

(A) ,d ek/;

(B) ,d cgqiz'u ijh{k.k

(C) ,d lkaf[;dh =qfV

(D) ,d lkaf[;dh

100. ANOVA  gS %

(A) ljdkjh fudk; tks lkekftd vkadM+sa

,d= djrk gS

(B) ,d lkaf[;dh; lkW¶Vos;j iSdst dk

uke

(C) , ou&os ,ukfyfll vkWQ oSfj;Ul

(D) , Vw&os ,ukfyfll vkWQ oSfj;Ul
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Rough Work @ jQ dk;Z



Example :

Question :

Q.1

Q.2

Q.3

4. Each question carries equal marks.
Marks will be awarded according to the
number of correct answers you have.

5. All answers are to be given on OMR
Answer Sheet only. Answers given
anywhere other than the place specified
in the answer sheet will not be
considered valid.

6. Before writing anything on the OMR
Answer Sheet, all the instructions given
in it should be read carefully.

7. After the completion of the examination,
candidates should leave the examination
hall only after providing their OMR
Answer Sheet to the invigi lator.
Candidate can carry their Question
Booklet.

8. There will be no negative marking.

9. Rough work, if any, should be done on
the blank pages provided for the purpose
in the booklet.

10. To bring and use of log-book, calculator,
pager & cellular phone in examination
hall is prohibited.

11. In case of any difference found in English
and Hindi version of the question, the
English version of the question will be
held authentic.

Impt. On opening the question booklet,
first check that all the pages of the question
booklet are printed properly. If there is any
discrepancy in the question Booklet, then
after showing it to the invigilator, get another
question Booklet of the same series.

mnkgj.k %

iz'u %

iz'u 1

iz'u 2

iz'u 3

4. izR;sd iz'u ds vad leku gSaA vkids ftrus mÙkj
lgh gksaxs] mUgha ds vuqlkj vad iznku fd;s tk;saxsA

5. lHkh mÙkj dsoy vks0,e0vkj0 mÙkj&i=d
(OMR Answer Sheet) ij gh fn;s tkus gSaA
mÙkj&i=d esa fu/kkZfjr LFkku ds vykok vU;=
dgha ij fn;k x;k mÙkj ekU; ugha gksxkA

6. vks0,e0vkj0 mÙkj&i=d (OMR Answer

Sheet) ij dqN Hkh fy[kus ls iwoZ mlesa fn;s x;s
lHkh vuqns'kksa dks lko/kkuhiwoZd i<+ fy;k tk;sA

7. ijh{kk lekfIr ds mijkUr ijh{kkFkhZ d{k fujh{kd

dks viuh OMR Answer Sheet miyC/k djkus

ds ckn gh ijh{kk d{k ls izLFkku djsaA ijh{kkFkhZ

vius lkFk iz'u&iqfLrdk ys tk ldrs gSaA

8. fuxsfVo ekfdZax ugha gSA

9. dksbZ Hkh jQ dk;Z] iz'u&iqfLrdk esa] jQ&dk;Z ds
fy, fn, [kkyh ist ij gh fd;k tkuk pkfg,A

10. ijh{kk&d{k esa ykWx&cqd] dSYdqysVj] istj rFkk lsY;qyj
Qksu ys tkuk rFkk mldk mi;ksx djuk oftZr gSA

11. iz'u ds fgUnh ,oa vaxzsth :ikUrj.k esa fHkUurk gksus

dh n'kk esa iz'u dk vaxzsth :ikUrj.k gh ekU;

gksxkA
egRoiw.kZ% iz'uiqfLrdk [kksyus ij izFker% tk¡p dj
ns[k ysa fd iz'uiqfLrdk ds lHkh i`"B HkyhHkk¡fr Nis
gq, gS aA ;fn iz'uiq fLrdk es a dk sbZ deh gk s ] rk s
d{kfujh{kd dk s fn[kkdj mlh fljht dh nwljh
iz'uiqfLrdk izkIr dj ysaA
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